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1.

The power dissipated in the 10-Ohm resistor :

Aftert=0 ,

Req = 2 + (40]|10) = 100
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iy (t) = 20e02'A = 20e~5tA,t > 0(5%)
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—i,——=—16e7°tA,t > 0(5%)
10+40

i100(t) =
Proa(t) = i10q% * 10 = 2560e~10CW ,t > 0(5%)( & 2560 : -2 )

Initial energy stored in the 2-H inductor att=0: (5%)
1
w,(0) = EL *i;(0)2 = 0.5 2 *20% = 400/
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3.
a) The wavetorm for the output Z for 0 < ¢ < 7} 1s given ,

The truth table:

Al B | Z

01010

O 11]0

11071

I 1]1

HAEFRSE 73057

Y%
A

w oo oW
J

w o
Y

S N

i Lo
—— Tl - |

‘—T?’—b—i !
T4 ———

EIEEAFEE R4 7 (5710%)
EHRE=0 57

b) Assuming oy = 0.

For 7| <t < T the first and the third MOSFET s are on. 1.e.
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(b)

dzvc(t) 1
dc2 + va(t) =0

(IE&ESEREG—F 8

Wy = % = 10° rad/s
(DEEA—7  FFIEE—FrH)

v.(t) = v,.(0) cos(w,t) = cos(10°t)
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